Free Mount Cylinder for Vacuum

ZCUK series

A free mount cylinder with a vacuum passage in the rod to

meet the requirements for (Air cylinder )+ (Vacuum pad).

A vacuum passage has been provided in the rod of the CUK cylinder to enable a vacuum pad to be
installed on the end of the rod.

DN

—

200~ 0
-0~ 0 |

Not necessary to provide vacuum tubing space at the end of the rod.
The area around the vacuum pad is uncluttered.

® Non-rotationg rod

A guide is provided as standard

Auto switch

equipment Reed auto switch:
Non-rotating rod accuracy D-A90 (Heavy-duty cord, in-line entry)
(no load: when the rod is D-A901V (Heavy-duty cord, perpendicular entry)

retracted on the detent plate side):
@10, 16——— +0.8°
@ 20,025,032 10.5°

Do not apply a lateral load to the
piston rod. Because the piston rod
is a hollow rod, a lateral load can

cause the piston rod to bend or break. How to provide plplng to the
vacuum side

® Vacuum pad (Pad diameter: @ 2 to @ 50) Cap piping

The piston rod of the vacuum side does not protrude.
<Perpendicular <Male thread> Also, the vacuum outlet tube does not move when the piston is
female thread> operating.

7 Vacuum port pressure range: -101 kPa to 0.6 MPa
Pressurise only when releasing the vacuum. At that
time, use it under the cylinder operating pressure.

Lighter weight than the cap piping.
Can also be used for air blowing.
Vacuum port pressure range: -101 kPa to 0.6 MPa

= Solid state auto switch:
D-M901, D-M9IW (Heavy-duty cord, in-line entry)
D-M901V, D-M9OOWV (Heavy-duty cord, perpendicular entry)

<Direct mounting>

-»

<Barb fitting> ‘ﬁﬂ Pe [ L ——

O
2



Free Mount Cylinder for Vacuum

ZCUK series

How to Order

B zcuk[c]ie] ]-[20]D

I [ _|
S zcpouk(c][16][ |-[20] D -[M9BW

I T 1—‘ 1 L Number of
. Bunt-ln.magnet . Acting Auto switch auto switches
Style (Tubing method in vacuum side)/e—— D [Double acting | — [without auto switch | — | 2pes.
(Rod end shape) Bore size + Refer to the table below for S 1 pc.
C Cap piping/Male thread 30110 applicable auto switches.
D | Gap piping/Pad direot mounting | ==~ 22 Port thread type Built-in Magnet Cylinder Model
Q R(?d_ plplng/M.ale thread - 20 |20 mm S| L Sielte silzs If a built-in magnet cylinder without an auto
R | Rod piping/Pad direct mounting 25 (25 mm __ [M5x08|©010,016,020, 025 switch is required, there is no need to enter
32 (32 mm Rc1/8 932 the symbol for the auto switch.
TN | NPT1/8 932 (Example) ZCDUKC20-20D
TF )| G1/8 @32 ——e Cylinder standard stroke [mm]
Note) In the case of rod piping (Q, R), TF 10,16 |5, 10, 15, 20, 25, 30
(G1/8) is not available. 20, 25, 325, 10, 15, 20, 25, 30, 40, 50
Applicable Auto Switches/Refer to Auto Switch guide for the detailed specifications on auto switches.
Electrical =3 Load voltage Auto switch model |Lead wire length (m) Pre-wired
Type| Special function i § Wiring (Output) DC AC Perpendicuiar|  In-line 051 |3]|5 — Applicable load
= =) (ML) @)
- 3-wire (NPN) 5V 12V MONV M9N ® /0 O O IC
L — 3-wire (PNP) ' MOPV M9P ® e e O O circuit
2 2-wire 12V M9BV MB | ©@ @ @ O O —
=) ) o 3-wire (NPN) MONWV | MONW | @ @ @ O O IC
S | ool | crommet | 8| "3wire (PNP) | 24V |° PV [mePwv | MoPW | @ (@ (@O O | circuit | Fo
g 2-wire 12V MO9BWV | M9BW | ©® @ @ | O O —
o Wat stant 3-wire (NPN) 5V 12V MONAV**| MONA** | O | O | @ | O O IC
Gl o-c jofr'ﬁj;:t'i‘on) 3-wire (PNP) ’ MOPAV**| MOPA** | O [O [@[O| O | circuit
2-wire 12V MOBAV**| MO9BA** | O | O | @ | O @) —
] 3-wire o o o . IC
3 § Grommet § (NPN equivalent) 5V - AgeV A9%6 4 g circuit -
23 L oire oav | 1oy | 100V | A9V | A93 (@ [—|@|@| — — | Relay,
o No 100Vorless| A90V A90 o — |0 — — IC circuit| PLC
=« \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.Consult with SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m..--e-... —  (Example) MONW # Solid state auto switches * Refer to “Best Pneumatics” for the details on auto switches with a
1m- - M (Example) MONWM marked with “O” are produced pre-wired connector.
. - L (Example) MONWL upon receipt of order. * Auto switches are shipped together but not assembled.
5 Meeeeeeenee Z  (Example) MONWZ
How to Order Vacuum Pad Note) Refer to page 4 for combination of cylinder and pad.
® In the case of rod end male o In the case of pad direct mounting
Pad dia. [mm] + N { Vacuum entry (Mounting thread diameter) pad dia. [mm]l —T ]
02| 02 Symbol | Thread dia. [@2t0 @ 8| 010t0 @16 |@ 20 to @ 32/ @ 40, @ 50 02] 02 Suffix
04| 04 §lBod Mix07| @ | — | — | — 04| 04 sy Applicable
06| 06 £/ B5 | M5x08| @ L — — 06| 06 VMool cylinder model
08| o8 2 :g M";'Es : ;5 = L : = 08| o8 X11 | ZC(D)UKZ10
:g glg T B10 M10Xx 125 — ° ° 10 ©10 — | ZC)UKR16 to 32
o o6 Material : 13| 013 Note) -X11 pad: @ 2 10 @ 8
6 N NBR 16 | @16 diameter and flat
20 | 920 S Silicone rubber 20 | 020 style only.
25| @25
U Urethane rubber 25| 925 Material
40 | @40 GN Conductive NBR (@ 2 to @ 16 only) 40 | 040 S (i s
50 | @50 GS | Conductive silicone rubber (@ 2 to @ 16 only) 50 | @50 ficone rubber
Pad type U | Urethane rubber
o— .
Application: Table (1) Pad Dia./Pad Type Padtypes | F |[FKM
Refer to “Table (1)". Type~Ra.[mmll 5> | 4 | 6 | 8 [10 |13 |16 [20 |25 |32 |40 50 | [ U Flat GN | Conductive NBR
U Flat Flat o000 /0 /0000|000 |C | Fitwithrbs (@210 © 16 only)
C | Flat with ribs Flatwithribs| — | —[—[— @ |@e[@e (e |e[@e[e®e @ | | D Deep Gs | Conductive silicone
D Deep Deep - -] —]—]®|— @ — @& |— | @ |— B Bellows rubber (@2 to & 16 only)
B Bellows Bellows —| —| o o/ ® ®6 O® 0 O (Except “-X117)




Free Mount Cylinder for Vacuum ZCUK Series

@bing system in vacuum s@— Model —@od end shapH Applicable pad style )
Cap piping Vacuum — Male thread
Vacuum (Perpendicular vacuum entry
Cap piping —— Pad direct mounting} female thread
Vacuum == #
ZCUKQ
Rod piping ————— Vacuum  S===lg — Vele tread———  |—Z P
—
—_Qh (With pad single unit
ZCUKR lock ring)
; u Vacuum ==
Rod piping Vacuum __ gl_ —— Pad direct mounting —
Specifications
. Bore size [mm] 010 | ©16| ©20| @25 | @32
A Precautions Fluid Air
Proof pressure 1.05 MPa
A Caution Maximum operating pressure 0.7 MPa

(DDo not place your finger in the

clearence between the detent plate
and the cylinder tube.
Never insert your finger between the
non-rotating plate and the cylinder tube
to prevent it from being pinched when
the piston rod retracts. If your finger is
caught, it could injure your finger
because the cylinder outputs a
considerable amount of force.

(2Make sure that rotational torque is not
applied to the piston rod. If this is
unavoidable, operate the cylinder within
the allowable rotational torque listed in
the table below.

Allowable Rotational Torque

Bore size [mm] |@ 10|@ 16|d 20|J 25|0 32

Allowable rotational torque

0.02(0.04|0.10{0.150.20
[N-m]

Minimum operating pressure

0.13MPa | 0.11 MPa

Vacuum port pressure

-101 kPa to 0.6 MPa
(At vacuum release 0 to 0.6 MPa) Nete)

Ambient and fluid temperature

Without auto switch: -10 to +70 °C (No freezing)
With auto switch: -10 to +60 °C (No freezing)

Lubrication Not required
Piston speed 50 to 500 mm/s
Cushion Rubber bumper on both sides

Stroke allowance

+1.0
0

Rod tip screw

With or without (Pad direct mounting)

Mounting

Basic type

Applicable pad

Refer to page 4 for details.

Note) For a cap type, supply pressure only when vacuum is released. That pressure should be less

than the cylinder pressure.

Non-rotating Rod Accuracy

(No load/At retraction of the rod at the locking plate side)

(3)To secure a workpiece to the end of the
piston rod, tighten the workpiece onto
the piston rod with the piston rod fully
retracted so that torque is not applied to
the piston rod.

(@To install a cylinder, tighten it within the
torque valves indicated in the table
below.

Proper Tightening Torque

Bore size  |Hexagon socket head| Proper tightening
[mm] bolt diameter [mm] |  torque [N-m]
J10 M3 1.08 +10 %
J16 M4 2.45 +10 %
20,025 M5 5.10 +10 %
32 M6 8.04 +10 %

Tube bore size [mm]

2010 | 916 | @20 | @25 | @32

Non-rotating piston rod accuracy

+0.8° +0.5°

O
2



ZCUK series

Applicable Auto Switch Model Mounting
Model Electrical entry Indicator light
D-A90 0 iabl Vertical mounting (Body through-hole)
2 wire/In line -navarable
D-A93 Available
Reed switch D-A96 3 wire/In line .
D-A90V ) ) Unavailable
2 wire/Perpendicular E—
D-A93V Available
D-A96V 3 wire/Perpendicular
D-M9N 3 wire/NPN/In line
D-M9P 3 wire/PNP/In line
D-M9B e 2 wire/In line
D-MONW 3 wire/NPN/In line(2 colour indicator -
D-M9PW 3 wire/PNP/In line (2 colour indiator)
Solid state D-M9BW 2 wire/In line (2 colour indicator) Available
switch D-M9NV 3 wire/NPN/Perpendicular "
D-M9PV 3 wire/PNP/Perpendicular -, Lateral mounting
D-M9BV 2 wire/Perpendicular (Body through-
D-MONWV B wire/NPN/Perpendicular (2 colour indicator) hole)
D-M9PWV 13 wire/PNP/Perpendicular (2 colour indicator)
D-M9BWV 2 wire/Perpendicular (2 colour indicator)
Note) "D-901" auto switches are also mountable (D-90, D-90A, D-93A and D-97).
Min. Stroke
Standard Stroke i for Mounting Auto switch
Cylinder Double acting/Single rod, Non-rotating piston rod Applicable auto switch 1N‘():- of switczhes
bore Stroke [mm] o pe. PES;
[mm] 5 10 15 20 25 30 40 50 D:Mggv 5 5
10 [ ] [ ] [ [ [ ] [ ] - - BN
16 [ ] [ ] [ [ [ ] [ ] - - D:MQDWV 5 10
20 [ ] [ ] [ [ [ ] [ ] [ [ ]
25 ° ° D D ° ° D ° g:ﬁggv 5 10
32 [ ] [ ] [ [ ] [ ] [ ] [ [ ]
Theoretical Force/Double Acting Style Unit: N
Cylinder bore Rod dia. Effective Operating pressure [MPa]
[mm] [mm] area [cm?] 0.3 0.5 0.7
10 4 66.0 19.8 33 46.2
16 6 172 51.6 86 121
20 8 264 79.2 132 185
25 10 412 124 206 289
32 12 691 207 346 484
[Cylinder/Applicable Pad
*In case of rod end male thread *In case of pad direct mounting
Use series ZPT pad (vertical vacuum entry/female thread mounting). Use series ZP pad (single unit).
Cylinder Pad(ZPT02 to 50J1-B4 to 10) Cylinder Pad (ZP02 to 5001C7)
Bore Pad dia. [mm] Thread Bore Pad dia. [mm]
Model [mm]| 2 |4 |6|8[10[13|16]20|25[32|40]|50 dia. Model [mm] 2146 |8|10[13[16/20|25|32|40|50
0/ e/ 0 — | — | —|—|—|—|—|— M4 1N o @@ @ —|—|—|—|—|—|—|—
ke [16 (@@ @ @@ ® —[—|—|—|—| W ZCUKD 6 eleele— || ||| |-
zcpukc| 20 [—|—|— |- |®/®/®/® ® /e || M 2CDUKD |20 —===]elele[=[==]=]=
Zcbukal! 25 |— |—|— |- |- |- |[—|®/ ® & e e M8 ZCDUKR 25 —|—|—|—|—|—-|—-|® @ & —|—
2|—-|—|—-|—-|—-|—-|— e/ ® ® ® & M0Xi25 32 ol Bl el el Bl Bl el Bl el e K B K )
|Sw|tch Groove Location Note 1) When using "ZC(D) UKH10", use ZP02 to 08Ux -X11. Pad shape is flat
only.
4042 Bore size A B
10 10.3 13
[
| | -+ 16 15 18
E 20 21 23
PJ P )q 25 27 25
32 35 27
N m

—
L/

=




ZCUK series
Auto Switch Mounting 1

Proper Auto Switch Mounting Position (Detection at stroke end) and Its Mounting Height

D-M9[]
D-M9CIW
D-M9JA
- 22
D-A90] A (24.5)
i =] I
A . 1 i
: : IO i
| L L A
T OFD - :[-‘ i i@—/uf‘ =
@) @l i ] 8
|
W _los

( ): Denotes the values of D-A96.

D-Mo1v
D-MoOOWV
D-M9OJAV

D-A9C1V

A 20 (22) 1

® |
;
i
&
@%ﬂ

—@ g 8 ) :{:_ i L%m

|| 0 =] L
|
W 55 (5) B
( ): Denotes the values of D-A9CIV.
[mm]
Bore size D-A9(1, D-A9CIV | D-M9CI, D-M9OIW | D-M9IV, D-M9CIWV D-M9IA D-M9IAV

[mm] A B w A B w A B w A B w A B w
10 125 | 3 |-15(1) | 165 | 7.5 25|165| 75| 05|165| 75| 45| 165 | 75| 25

16 16 4 |-2(05) | 20 8 15 | 20 8 0 |20 8 35 | 20 8 2

20 20 6 |-4(-15) 24 10 0 24 10 -2 24 10 2 24 10 0
25 225 | 7 |-55(-3)| 265 | 115 | -1.5 | 265 | 115 | -3.5 | 265 | 115 | 05| 265 | 115 | 1.5
32 235 | 8 |65(-4) 275 | 125 | 25 | 275 | 125 | -45 | 275 | 125 | -0.5 | 275 | 125 | -2.5

Note 1) Figures in the table above are used as a reference when mounting the auto switches for stroke end detection. In the case of actually setting the
auto switches, adjust them after confirming their operation.

Note 2) Negative figures in the table show dimensions mounted inside cylinder body.

Note 3) In the case of 5 mm stroke or the 10 mm stroke, there are times in which the auto switches will not turn OFF or 2 auto switches will turn ON
simultaneously due to their movement range. Therefore, set the position approximately 1 to 4 mm outward from the values given in the table
above. Then, perform an operation inspection to make sure that the auto switches operate normally (if 1 switch is used, make sure that it turns
ON and OFF properly; if 2 auto switches are used, make sure that both switches turn ON).

Note 4) Figures in () in the table W are D-A90 and A93.

Operation Range [mm]
. Bore size
Auto switch model 10 16 20 25 32
D-A9([], A9V 6 9 11 12.5 14
D-M9(], M9V
D-M9CIW, M9CIWV 4 5 7 7 7
D-M9CIA, MOLJAV

= Since this is the average value at a normal temperature including hysteresis (tolerance £30 %), it is
not guaranteed.

Figures may change substantially depending upon the surrounding environment.

O
2



ZCUK series
Auto Switch Mounting 2

Mounting_j of Auto Switch

| Cautions on Proximity Installation \

When free mounting cylinders equipped with auto switches are used,
the auto switches could activate unintentionally if the installed
distance is less than the dimensions shown in the table. Therefore,

make sure to provide a greater clearance. Due to unavoidable
circumstances, if they must be used with less distance than the
dimensions given in the table, the cylinders must be shielded.
Therefore, affix a steel plate or a magnetic shielding plate (MU-S025)
to the area on the cylinder that corresponds to the adjacent auto
switch. (Please contact SMC for details.) Auto switches may
malfunction if a shielding plate is not used.

Bore size [mm]

Mounting pitch L [mm]

10 20
16 33
20 40
25 46
32 56

Shielding plate (MU-S025) dimensions

e}
—

Material: Ferrite stainless steel, Thickness: 0.3 mm

36 The product is attached to the cylinder since the
bottom side is pre-treated with adhesive glue.
Weight
Basic Type/With Auto Switch ( ): Denotes the values with D-A93. Unit: g
Bore size Cylinder stroke [mm]
Model
[mm] 5 10 15 20 25 30 40 50
10 63 69 75 81 87 93 o -
(68) (79) (85) (91) (97) (103)
16 103 115 127 139 151 163 - -
(128) (145) (157) (169) (181) (193)
180 204 228 252 276 300 348 396
ZC(D)UKC 20 (214) (244) (267) (292) (316) (340) (388) (436)
25 304 343 382 421 460 499 577 655
(358) (402) (441) (480) (519) (558) (636) (714)
32 514 574 634 694 754 814 934 1054
(587) (652) (712) (772) (832) (892) (1012) (1132)
10 49 53 57 61 65 69
(54) (63) (67) (71) (75) (79) - —
16 79 86 93 100 107 114
(104) (116) (123) (130) (137) (144) - -
145 159 173 187 201 215 243 271
2C(D)UKQ 20 (179) (198) (212) (226) (240) (254) (282) (310)
25 259 279 299 319 339 359 399 439
(313) (338) (358) (378) (398) (418) (458) (498)
32 421 451 481 511 541 571 631 691
(494) (529) (559) (589) (619) (649) (709) (769)

R E L P T

Besides the models listed in How to Order, the following auto switches are applicable.

-
1

1

1 = For solid state switches, auto switches with a pre-wired connector are also available. Refer to the Auto Switches Guide on www.smc.eu.

. = Normally closed (NC = b contact), solid state switch (D-F9G/F9H type) are also available. Refer to the Auto Switches Guide on www.smc.eu.
[ =

- Em mm Em m Em Em Em Em Em m Em mm R Em Em m Em Em Em Em m Em Em Em Em Em Em Em mm Em Em Em m mm mm mm e e mm mm

O
2



Free Mount Cylinder for Vacuum Z CU K Series

Construction
Cap piping/Male thread: ZC(D)UKC
g10

With auto switch

II_‘“LIPII ree————i

-_IE.I:J;.— s

Pad direct mounting
Lo In case of ZG(D)UKD

AA' cross-section

Refer to CUK series for outside colour of the piston rod, tube and cap.

g 16 to @ 32
With auto switch
qT ) ® d A4 an @ @3 2 on (
Jlr!, 2\2 18 Q0 7 ﬁ? ?l,l 13 11?: {\1 3{ Ci fr(l /2 2 l/S_ 12
|'II \\ \ll II' \ | \ ll\ II| I_JIJII = /
III.' \ || % {%} i — ——
f il =
{ EH}@ g ey : K]
N I“i“ Pad direct mounting A= : AL *C;} T @‘_,_J. ———
In case of ZC(D)UKD — 7 12 5 S [ | ¥
A / / L N— i‘. \ ] |
AA' cross-section = L f: ol \ "'\ J |
- @ @ @ G ®@® OB @

Refer to CUK series for outside color of the piston rod, tube and cap.

Component Parts

Component Parts
No. Description Material Notes No. Description Material Notes
(1) | Cylinder tube Aluminium alloy Hard anodised 3 | Damper Urethane
@ | Rod cover B Aluminium bearing alloy Chromated Magnet Magnetic material
® | cap Aluminium alloy Hard anodised (5 | Auto switch -
@) | Piston Aluminium alloy Chromated Rod end nut Carbon steel Nickel plated
() | Piston rod Stainless steel (7 | Piston gasket NBR
® | Bush Ol impregnated sintered metal Piston seal
@ | Plate Aluminium alloy Nickel plated Rod seal
Guide rod Stainless steel 20 | Gasket NBR
(® | Bush Oil impregnated sintered metal @) | Gasket for cap
Hexagon set screw Carbon steel Black zinc chromated 2 | Seal washer Rolled steel/NBR
@D | Hexagon socket head cap screw Carbon steel Black zinc chromated
@ | Hexagon set screw Carbon steel Nickel plated
Replacement Parts: Seal Kit
Cap piping
Bore size / Part no.
Kit no. 210 216 220 225 932
ZCU10-PS ZCU16-PS ZCU20-PS ZCU25-PS ZCU32-PS

= Seal kit includes (8, 19, 20 and @). Order the seal kit based on each bore size.

# Seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is needed.

Grease pack part no.: GR-S-010 (10 g)

O
2



ZCUK series

Construction

Rod piping/Male thread: ZC(D)UKQ
g10 With auto switch

|III —H E — - = -
; : A Y
Pad direct mounting -

In case of ZC{D)UKR A e .‘-.‘ f

\ |
AA' cross-section ’:g‘ Eg“'. ) :\f_J_\_J

Refer to CUK series for outside colour of the piston rod, tube and cap.

@16 to @ 32
With auto switch

\\ i
() %_3, 1 '(151 (é\ \5\

Pad direct mounting
In case of ZC(D)UKR

AA' cross-section
p=2

Refer to CUK series for outside colour of the piston rod, tube and cap.

Component Parts Component Parts
No. Description Material Notes No. Description Material Notes
(1 | Cylinder tube Aluminium alloy Hard anodised @3 | Damper Urethane
@ | Rod cover B Aluminium bearing alloy Chromated Magnet Magnetic material
(3 | Rod cover retainer plate Aluminium alloy Hard anodised @ | Auto switch —
@) | Piston Aluminium alloy Chromated Rod end nut Carbon steel Nickel plated
® | Piston rod Stainless steel 17 | Piston gasket NBR
® | Bush Oil impregnated sintered metal Socket Carbon steel @ 16 only
@ | Plate Aluminium alloy Nickel plated Gasket @ 16 only
Guide rod Stainless steel 20 | Piston seal NBR
© | Bush Oil impregnated sintered metal 2) | Rod seal
Hexagon set screw Carbon steel Black zinc chromated 2 | Gasket
(1 | Hexagon socket head cap screw Carbon steel Black zinc chromated 23 | Seal washer Rolled steel/NBR
12 | Hexagon set screw Carbon steel Nickel plated
Replacement Parts: Seal Kit
Rod piping
Bore size / Part no.
Kit no. 210 216 020 925 232
CUW10D-PS CUW16D-PS CUW20D-PS CUW25D-PS CUWB32D-PS

= Seal kit includes @0, 2) and @2. Order the seal kit based on each bore size.
= Seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is needed.
Grease pack part no.: GR-S-010 (10 g)

O
2



Free Mount Cylinder for Vacuum Z CU K Series

Vacuum Piping: Cap Piping/Rod End Shape: Male Thread

ZC(D)UKC|Cylinder bore |—|Stroke |D

Vacuum port size M4X%0.7 12
210 M5x%0.8
< < ' '
=) S]] — r
] A T — ] 4
;é w U . 2_
- o ) 1 Oy _ - (Y\l; o~ n 1
:[;,_- H _ Sl el |
Q /i [@[ T = 1 0
2x @ 3.2 through '
101/8] 7 4 x @ 6 depth 5 counterbore
21 36 + Stroke | 20 + Stroke 112
T
77 + 2 x Stroke
2x@3.2
Seal washer through Port size
/ o) /2xM5x0.8
= A 3
+ N4 -9 - é
HAL ] o ——
_Z_J 30 + Stroke
16.5
g 16 to Q 32 Vacuum port size MM FL
[a)
-§’ Q| — T ] l [
EEA® il il
s : Ol A\
Width across \ T ) >y ©:
flats L =N | j
LA 2 x @ P thrdugh
LA"] |FIE 4 x @ T counterbore FK
H S + Stroke | SA + Stroke B
Z + 2 x Stroke |
Port size
2 x @ P through 2xM5x0.8(@32:2x1/8)
<
_@ ® é G
- - 7 — i
Seal washer L |
LE | GC + Stroke
GA
Port size Stroke range 0
Model o Vel i [mm] A | A B C |9d|@D| E F | FK| FL | FY | GA | GC
ZC(D)UKC16 M5 x 0.8 M5 x 0.8 5to 30 11 12.5| 20 32 2 6 7 8 13 17 |28 [165" 31
ZC(D)UKC20 M5 x 0.8 1/8 5 to 50 12 |14 26 | 40 3 8 9 8 | 16 | 20 |33 |19 33.5
ZC(D)UKC25 M5 x 0.8 1/8 5 to 50 15518 32 | 50 4 10 | 10 | 10 | 20 | 22 [43.5|21.5 |34
ZC(D)UKC32 1/8 1/8 5 to 50 19.5| 22 40 62 5 12 11 12 24 29 |51.5|23 34.5
Model H J L MM OP| Q |[QGA| R S SA gT Y V4
ZC(D)UKC16 26 | 14 5| M5x08 |45| 4 |2 12 | 30 (40) |19.5|7.6 depth 6.5| 15.5 75.5 (85.5)
ZC(D)UKC20 29 | 16 6 | M6x1.0 | 55| 9 |45 | 16 | 36 (46) |21 9.3 depth9 | 19.5 86 (96)
ZC(D)UKC25 33 | 20| 8| M8x125[55]| 9 |45 20 |40(50) [21 | 9.3depth8 | 24.5 | 94 (104)
ZC(D)UKC32 42 | 24 | 10 | M10x1.25| 6.6 |13.5]| 45 | 24 | 42 (52) |22 11 depth 11.5 | 30.5 | 106 (116)
(): In the case of a mounted auto switch. Note 1) In the case of ZCUKC16-5D: 14.5 mm.
9

O
2



ZCUK series

Vacuum Piping: Cap Piping/Rod End Shape: Pad Direct Mounting
ZC(D)UKD|Cylinder bore |—|Stroke | D

9210

Vacuum port size

12
5 | 3 ' o n|
o — 4 T f
° I I ] -
{,&7 16 R I I Ja =47
JEN < f\,z\q i) , L, AR
Q L - I " 1 i
5 8 vzj 2 x @ 3.2 through 12
= 4 x @ 6 depth 5 counterbore 15
21 36 + Stroke _L 20 + Stroke
77 + 2 x (Stroke)
Pad for ZCUKD10 2 x @ 3.2 through Port size
(ZP02 to 08U*-X11) 2xM5x0.8
(o)
<1 i - _
1 A\ Y
< o
‘ZJ 30 + Stroke
16.5
J 16 to @ 32
Vacuum port size FL
Q —
= S ]
o @t@m . : =s
£ %g“ ) S
—:I:’:A i :
Q N - e
Width across A\ I o
flats L A 2 x @ P through
Wl lF|E 4 x @ T counterbore
H S + Stroke | SA + Stroke
Z + 2 x Stroke '
Port size
2 x @ P through 2 x M5 x 0.8 (0 32: 1/8)
3
xrl< 7 O ] _ OI
S o (%
Use ZP series pad. .E.I GC + Stroke |
GA
Port size Stroke range .

Model AT S EETIGR [mm] gA| A B | C |@d @D| E F | FK| FL | FY | GA | GC
ZC(D)UKD16 M5 x 0.8 M5 x 0.8 5 to 30 5 7 20 | 32 2 6 7 8 | 13 | 17 |28 [165"" 31
ZC(D)UKD20 M5 x 0.8 1/8 51to 50 66| 8 26 | 40 3 8 9 8 | 16 | 20 |33 |19 33.5
ZC(D)UKD25 M5 x 0.8 1/8 5 to 50 8 9 32 | 50 4 10 | 10 | 10 | 20 | 22 |435|21.5 |34
ZC(D)UKD32 1/8 1/8 5 to 50 11.5|10.5| 40 | 62 5 12 | 11 12 | 24 | 29 |51.5|23 34.5

Model H|J L ([ OP| Q [QA| R S SA gT w Y V4
ZC(D)UKD16 26 | 14 5|145| 4 |2 12 | 30(40) | 19.5 | 7.6 depth6.5 | 3.5 | 155 | 75.5(85.5)

ZC(D)UKD20 29 | 16 6 |55| 9 | 45| 16 | 36(46) | 21 9.3 depth 8 5 19.5| 86 (96)
ZC(D)UKD25 33 | 20 8 |55| 9 |45| 20 | 40(50) | 21 9.3 depth 9 5 245 | 94 (104)
ZC(D)UKD32 42 | 24 | 10 | 6.6 [13.5]| 45 | 24 | 42(52) | 22 11 depth11.5 | 5 30.5 | 106 (116)

(): In the case of a mounted auto switch.

10

Note 1) In the case of ZCUKD16-5D: 14.5 mm.



Free Mount Cylinder for Vacuum Z CU K Series

Vacuum Piping: Rod Piping/Rod End Shape: Male Thread

ZC(D)UKQ |Cylinder bore |—|Stroke |D

g 10
12
M4X0.7 < . .
Q ] 1
§> _ AN I I — ]
:[_‘S 111 N
- |
0 ! \Pr (38 T ]
- L ﬁ -
Q 2x @ 3.2 through |
101|817 4 x 6 depth 5 tounterbore 5
21 36 + Stroke LS_L 7 + Stroke
70 + 2 x Stroke
Seal washer 2 X @ 3.2 through Port size @ 4/ 2.5 Urethane tube (TU0425) -~ sl 57
o 2xM5x0.8 Soft nylon tube (TS0425) Sla |
Yo T |
1S4 L
paCat - J
p 12
16 S 15
O 16 to @ 32
MM FL .
Vacuum port size
B %‘ 1] Socket (Only @ 16) i
{g: 45;8 T@T i M5x0.8 7:__ gec
> g#:— ] @ - Hexagon width < r)f |
Q g across flats 8 L S
Width across T -l
flats L i AN }__ .
A 2 x @ P through
LA | |FJE ¢ x @ T counterbore| HA + FK
H S + Stroke _SA Strcg(ea B
Z + 2 x Stroke il 19)
Port size
2 x @ P through 2xM5x0.8 (@ 32:2X1/8)
<<
5 (e]
x| —GH @ %:: =Hd]
Seal washer jEjD It s
GA
Port size Stroke range .

Model e VERLCI e [mm] A A B C 0d|@D| E F |FK| FL | FY | GA | GC
ZC(D)UKQ16 M5x0.8 | M5x0.8 N2 510 30 11 [125] 20 | 32 | 2 6 | 7| 8|13 | 17 |28 [165" 19
ZC(D)UKQ20 M5 x 0.8 M5 x 0.8 5 to 50 12 26 | 40 3 8 9 8 | 16 | 20 |33 [19 |215
ZC(D)UKQ25 M5 x 0.8 M5 x 0.8 5to 50 15.5 32 | 50 4 10 | 10 | 10 | 20 | 22 | 435|215 |22
ZC(D)UKQ32 1/8 1/8 5 to 50 19.5 40 | 62 5 12 | 11 12 | 24 | 29 |515|23 |225

Model H |HA| J L MM OP| Q [QA| R S SA oOT Y Z
ZC(D)UKQ16 26 | 5 | 14 5| M5x08 |45| 4 |2 12 |30(40) | 7.5|7.6depth6.5| 15.5 | 68.5(78.5)

ZC(D)UKQ20 29| 5 | 16 6| M6x1.0 |55| 9 |45| 16 |[36(46) | 9 9.3depth8 | 19.5 | 79 (89)
ZC(D)UKQ25 33| 5 |20 8 | M8x125|55| 9 |[45]| 20 |40(50) | 9 9.3depth9 | 245 | 87 (97)
ZC(D)UKQ32 42 | 5 | 24 | 10 | M10x1.25 | 6.6 |13.5| 4.5 | 24 |42 (52) | 10 | 11 depth 11.5 | 30.5 | 99 (109)

(): In the case of a mounted auto switch.

Note 1) In the case of ZCUKQ16-5D: 14.5 mm.

O
2

Note 2) In the case of socket equipped type.

11



ZCUK series

Vacuum Piping: Rod Piping/Rod End Shape: Pad Direct Mounting
ZC(D)UKR [Cylinder bore |—|Stroke |D

@10
12
£ ¥ ' T i
=4 ANCTEYTRT T ] i
.{g = N m_ ¥ | fl:i IR
- £ Nl o
te) | ~l v
o D) &1 T ] :T
® — e
2 x @ 3.2 through ‘ !
5 81| 7 4 x @ 6 depth 5 counterbore |5
21 36 + Stroke M L 7 + Stroke 12
70 + 2 x Stroke
Pad for ZCUKR10
(ZP02 to 08U*-X11) 2 x @ 3.2 through Port size @ 4/@ 2.5 Urethane tube (TU0425) or
o 2xM5x0.8 Soft nylon tube (TS0425)
o I o
(O e — —
7 10
16.5
@ 16 to @ 32
FL )
Vacuum port size
. 8| 1 Socket (Only @ 16) |
? . ;2;: e
- 'EQE[HHH‘:ﬂ@l—_@_m ofF .
S e ‘ 2N
Width across = ] 3
fats L =K ] across flats 8 .
A 2 x @ P through I
W1 F| E 4x@T counterbore HA + FK
H S + Stroke_|SA_Stroke B
Z + 2 x Stroke 1010)
Port size
2 x @ P through 2xM5x0.8(032:2x1/8,
oo /T &
x|< ;!HE% g— S
(S
Use ZP series pad jD ] —
: E GC
GA
Port size Stroke range
Model Air port Vacuum port [mm] gA A B C | ©0d|@D| E F |FK| FL | FY | GA | GC
ZC(D)UKR16 M5 x 0.8 M5 x 0.8 Note 2) 5to 30 5 7 20 | 32 2 6 7 8 | 13 17 |28 [165"" 19
ZC(D)UKR20 M5 x 0.8 M5 x 0.8 5to 50 66| 8 26 | 40 3 8 9 8 | 16 20 |33 19 |215
ZC(D)UKR25 M5 x 0.8 M5 x 0.8 5to 50 8 9 32 | 50 4 10 | 10 | 10 | 20 22 |435 (21522
ZC(D)UKR32 1/8 1/8 5to 50 11.5]10.5] 40 | 62 5 12 | 11 12 | 24 | 29 |515]|23 |225
Model H HA| J | L |OF Q|QA|R S SA o9T W | Y V4
ZC(D)UKR16 26 | 5 |14 ]| 5|45 4 |2 12 | 30 (40) 75| 7.6depth6.5 | 3.5 |15.5 | 68.5(78.5)
ZC(D)UKR20 29| 5 |16 | 6 |55| 9 |45 | 16 | 36 (46) 9 9.3 depth 8 5 19.5 | 79 (89)
ZC(D)UKR25 33| 5 |20 | 8 |55]| 9 |45]20 | 40(50) 9 9.3 depth 9 5 245 | 87(97)
ZC(D)UKR32 42 | 5 |24 |10 | 6.6 |135/45 |24 | 42(52) | 10 |11 depth11.5| 5 30.5 | 99 (109)
(): In the case of a mounted auto switch. Note 1) In the case of ZCUKQ16-5D: 14.5 mm. Note 2) In the case of socket equipped type.

12

O
2



Free Mount Cylinder for Vacuum ZCUK Series

Dimensions of Pad Mounted Model

Rod end shape: Male thread

Tube bore: @ 10

Tube bore: @ 16 to @ 50

—
c
8l S -
=
“_ -
HP - -
(HF) (-
Model Flat/Flat with ribs Deep Bellows Applicable

Diafmm]| 2 | 4 | 6 | 8 |10[13[16[20|25|32|40(50|10|16|25[40| 6 | 8 [10[13|16|20|25|32(40|50| pad model

@DQ |26(48| 7|9 |—|—-|—-|—-|-|—-|—-|—-|—-|-|-|-|7]|9|—-|—-|—-|-|—-|—-|—-|-
ZC(D)UKC10 —— T —t— 1T i
ZC(D)UKQ10 HQ [195[195(195/19.5 205(205 ZPTOOO-B4

HP [365(365(365(365| — | — | — |— |— | = |—|—=|—|—|—|—|375/376| = | = | = | = |- |—|— | —

oDQ |26(48]7 |9 |12]|15|18|—|—|—|—|—[12]|18|=|—=|7 |9 |12|15]18|—|—|—|—|—
G0 HQ [195[195(195(195(21 |21 |215) — | — | — | = | — |24 |25 | — | — |205|205]| 25 |275|29 | — | — | — | — | — | ZPTOOO-BS
ZC(D)UKQ16

HP |#15(415|415(415]| 44 |42 |425| — | — | — | — | — |45|46| — | — |425]|425]46(485|50 | — | — | — | — | —

obQ |—|—|—|—-|12]|15|18|23 |28 |35 — | — [12]|18|28| — | — | — [12|15|18|22|27|34| — | —
ZC(D)UKC20 HQ |—|—|—|—|21|21|215|23|23 |25 — | — |24 |25|29| — | — | — | 2527529 {325|33 |38 | — | — | ZPTOOO-B6
ZC(D)UKQ20

HP | — | — | — | — |44 |44 |445|46 |46 |465| — | — |47 |48|52| — | — | — | 48(505|52 (555|56 |61 | — | —

oDQ |- |—|—|—-|—|—-|—123|28[35|43|53|— | —|28|43|—|—|—|—|— |22|27|34|43|53
Al e HQ |—|—|=|—-|—|—|—129|29(295|32|33| — | — [35(425| — | — | — | — | — [385|39 |44 [475|515| ZPTOOI-B8
ZC(D)UKQ25

HP |[—|—|—|—|—=|—|—|54|54|545|57|58| — | —|60|675| — | — | — | — | — |635|64 |69 |725|765

obQ |- |—|—-|—-|—|—-|—1|23|28|35(|43|53| — | —|28(43|—|—|—|—|— |22]27|34|43|53
ZC(D)UKC32 == ™~ [ | _ | _ (32|32 |325| 35|36 | — | — |38 45| — | — | — | — | — |415| 42| 47 |505|545| ZPTOCIC-B10
ZC(D)UKQ32

HP | —|—|—|—|—|—|—|64|64|645/67|68|—|—|70|775| — | —|—|— | — |735|74 |79 (825|865
Rod end shape: Pad Direct mounting

Tube bore: @ 10
Model Flat/Flat with ribs Deep Bellows Applicable

Dia.[mm]| 2 | 4 | 6 | 8 [10|13|16[20|25|32|40(50|10|16|25[40| 6 | 8 |[10|13[16|20|25|32(40|50| pad model

oDQ |26l48| 7|9 |- |—-|-|=-|=|=[—-|—-|—-|—-|—-|— == -]1-]-1-]-
ZC(D)UKD10 — T T T T T o T o T o T o o T o o T T T T Note)
ZC(D)UKR10 HQ [10[10[10]10 ZPOIUC-X11Nete

HP 126126126126 === |=|<|<|=|=|=|=|=|=|=[=[=[=[=[=[=[=[=1<=

obQ |26l48| 7|9 |- |=-|=-|=|=|=|—-|—-|-|-|-|-|7zl9|=-|—-|—-|-|-|-|—-|-
ZC(D)UKD16 — T T T = === T == === T_
ZC(D)UKR16 | HQ |12]12/12/12 13[13 ZPOO0

HP [31[31|31[31|—|[—|=-|-|=|=|-|—=|—-|-|-|—-|32]|3|-|-|—-|—-|—-|—-|—-|-

@obQ |—|—|—|—|12|15(18|—|—|—|—|—[12]|18|—|—|—|—|12]15]18|—|—|—|— | —
ZC(D)UKD20 — 1 — T T == g B R R —
ZC(D)UKR20 HQ 1212125 15|16 16 [185] 20 ZPOOO

HP | —|—|—|—|33[83|35|—|—|—|—|—|36[37|—|—|—|—[37|395[41|—|—|—|—|—

obQ |—|—|—-|—-|—-|=-|—-1|23|28[35|—|—|—|—|28|—|—|—|—|—|—|22]|27|34| — | —
ZC(D)UKD25 S T ) O R — == T = === —
ZC(D)UKR25 HQ 14 (14 |145 20 235|24 | 29 ZPOOO

HP | —|—|—-|—-|—-|—-|—1|38|38(385|—|—|—|—|44|—|—|—|—|—|—|475]|48|53]|— | —

opQ |- |—-|-|-|-|-|-|-|-]—-]43|53|—|—|—|43|—|—|—-|—|—-|—]—]|—|43]|53
ZC(D)UKD32 — Tt —T=T= N R o R R R —

ZC(D)UKR32 HQ 185[195 29 34|38 | zZPOOO

HP | — |- |—-|—-|-|-|=-|-|=-|=1|50[51|—|—|— 605 —|—|—|—|—|—|—|—[655|695

Note) ZPJU-X11: Flat style only.

Accessary Dimensions (Attached only to a rod end male thread type.)

Rod end nut

Seal washer

. eﬁ d Core sheet
A —
“ A
AN 1 ¥ O
N\
¥ r
H B t Material: Core sheet——Rolled steel
i Material: Carbon steel Seal NBR
Parts No. |Applicable cylinder bore [mm] d H B C D Parts No. Applicable cylinder bore [mm] t D
NTP-010 10 M4 24| 7 | 81|68 WCS4 X 0.7 10 1.2 11.5
NTJ-015A 16 M5 4 8 | 92|78 WCS5 X 0.8 16 1.2 125
NT-015A 20 M6 5 10 [11.5] 9.8 WCS6 X 1 20 1.2 14.0
NT-02 25 M8 5 13 [ 15.0 | 125 WCsS8 X 1 25 1.6 15.5
NT-03 32 M10 X125 | 6 17 [ 19.6 | 16.5 WCS10X 1 32 1.6 18.0

13




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


